
Eric Roberts and Jerry Cain Handout #52A 
CS 106J June 9, 2017 

Answers to Practice Final #2 
 

Review session: Sunday, June 11, 6:00–8:00P.M. (Gates B-12) 
Scheduled final: Wednesday, June 14, 8:30–11:30A.M. (Lathrop 282) 
 
Problem 1—Short answer (10 points) 

1a) 

 
The values for this problem (which was taken from an autumn quarter final and thus 
came at the right season) indicate the total number of gifts in each category if you take 
the words to “The Twelve Days of Christmas” literally.  At the end of our true love’s 
gift-giving spree, the total haul contains: 
 

12 Partridges in pear trees 42 Swans-a-swimming 
22 Turtle doves 40 Maids-a-milking 
30 French hens 36 Ladies dancing 
36 Calling birds 30 Lords-a-leaping 
40 Gold rings 22 Pipers piping 
42 Geese-a-laying 12 Drummers drumming 

 
Charles M. Schulz offered a lovely rendition of this problem in 1963: 
 

 
 
1b) The issue here is figuring out exactly which variable or field each occurrence of x 

refers to.  The answer is the string consisting of "" + 10 + (11 * 6), or "1066". 
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Problem 2—Simple graphics (15 points) 
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Problem 3—Interactive graphics (20 points) 
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Problem 4—Strings (15 points) 

 
 
Problem 5—Arrays (10 points) 
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Problem 6—Working with data structures (15 points) 
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Problem 7—Reading data structures from files (15 points) 

 
 


